EARAROBREBRT —5 XN—ZXBISH—F

VLS C 2 A4 5%
[#E2] 17 :290,000 3~ 2 # : 102,000 g

2021118158 (B) 11[@EEE2H
\(9&1&1 n ‘I%EH?’JFQ] | 5 1200 7@

/ 33%&:58,000H . 43%&:29,000H . 53&:15,000 1

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
o s — < HER 214, - 0| - ElE— KR
1178 XAV POA=2T AR pal I P | e
RiTUA=Y BOAZVTTA4TS BRI Y R
= B 3 | A 1:14.3 6-4 37.4| - 7 | 470 |BEEZ (BE)
2011 | FRAEXAT 47 56.0 a 1/2) 3 |BNE/A
RiVEWIF— B:AURASY pldie]
Y|, — B3 | SE 1:14.5 7-6 375 — 5 468 |EEEHE (KR
Eﬂ 4| AATI 56.0 (3/4) (o) | BT
RW—5—IyvT BAATVISVR NVERNTT—L
= 4t 3 | LUAERE 1:14.5 2-2 39.3| - 1 436 | KEFR (EERE)
4179 | BF/T7HSR 56.0 F9) ) |EEXE
R:AN/UFv—R B:UFrE5Tq BRER 5
— 4 3 | LUAEER 1:14.6 8-8 36.9| — 4 458 | /\PEERAE (ERRE)
sy 6 ¥V —F 54.0 (r2) w) B
KRE—UR B:I—LRALS XTI s
— -~ BIAITE 4. - . - {E4SARBEA] (KR)
6(5|5|3J1FI—Ta R i iy A e ° (‘_1?2) sn
R:XYUSTwik B d—)URIL—Va TS
— o CoHRER 114, - 0| - =HEE KR)
7E 3| =Y/ NPl "R [ R P | Emee
R:FAVPITIRY B2/ TW—L—Y IS
5 = 4 5 | MR 1:14.9 11-10 [36.4| - 8 08 | RIIBE (KR
88|11 AM¥Y3DHI=F 56.0 A 1/4) ) |EH#N
RiXAYIDVR—5— BEPZIAH-I BEE%S
S 4% 3 | ERRE 1:15.5 9-9 37.6| — 11 390 | #P=— (KR
9|8l10 Y¥UT 54.0 @ © (#) D#¥ELooP
RiTUF—Y B:OIUTUIER Hep &%
N SR :15. - . - =HEE (KR
T o PAE:E PR 3G o) 7B ’ (‘_1?3) e
RiFVIvB/FE+ B:TVTavIN=T e
= =y AMBE :16. - . - RINBE (KR
1 ) | R=5—T1wh H 3 o 1(196)9 10-11 | 38.8 10 (4_052) LN )
RS/ v—0 B:F7ITPVIIvVE U's &S
@ 1—F—&RIEL
13—7—
20—F—
30—7— 8,9,5,7,3,1,4,6,10,2,11
40— — 8,9,5,1,3.4,7,6,10,11,2
o ILRE
BB 8 320 JA R 1-8 2,140 % 3E 1-7 3,030 3EE 1-4-8 15,8204
B B 8 160/ 4-8 600 5 E 1-8 7,980H 3EH 8-1-4 65,550
1 1,140 1-4 3,480H Ba 8-1 8,890M
4 2804

ABIC OV TRUTEREERRODDZE. THRIIZEL.




